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@® 2km? = 20000a @ 6ha = 60000 m?
@40 km? = 400 ha @ 500 ha = 5 km?

® 70000m? = 7ha

® 40km? = 4000 ha
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® 100m? @10000a @ 0.1km?
@ 1ha ® 10m x 100m
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@ 100m?

@ 10000a = 1000000 m?

® 0.1km? = 100000 m?

@ 1ha = 10000 m?

® 10m x 100 m = 1000 m?
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@O 8000g = 8kg @ 0.4t =400kg
® 1300kg = 1.3t @o.m =170g

® 5630000 g = 5630 kg

1t = 1000 kg = 1000000 g
@ 0.17t = 170000 g
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(5% 3) x 3 =45(71)
1 x 45 = 45(cm?)
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®© 7L, 1kg @ 72,0.1kg ® w4t 0.01kg
@ W, 1kg @UJ%, 0.1kg
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A2old 1a & AYAHEF : 3.2ha = 320a,
5.6t = 5600kg = 5600 = 320 = 17.5( kg)
Ayl 1a S A4 ¢ 4.5ha = 4504,
7920 + 450 = 17.6(kg)

wretA B 7F 1a & AJateFol

17.6 - 17.5 = 0.1(kg) B @&Uth
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D 60+2.5 @)4.8+1.5 ® 8.64+0.48

@ 144+9.6 ® 26+3.25
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@D 60 +2.5=600+25=24
@ 48+15=48+15=32
® 8.64 +0.48 = 864 + 48 = 18
@ 144 + 9.6 = 1440 ~ 96 = 15
® 26 + 3.25 = 2600 + 325 = 8
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@] Wol= (12 x 9) + 2 = 54(cm?)
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